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1. 

Which 2 triangles form the rectangle?

A. A

B. B

C. C

  

2. 

It costs $3.00 to get into the fair.

Each ride costs $0.50.

How much does it cost to get into the
fair and go on 2 rides?

A. $1.00

B. $5.00

C. $4.00

3. 

A cube has 2 black sides, 2 white sides,
1 yellow side, and 1 green side.

What is the chance it will land with the
yellow side up?

A. 1
6

B. 1
3

C. 1
2

4. 

AB + BD =  in.

A. 100

B. 125

C. 150



5. 

Tax is 6%.

Lin spends $50.00. 

How much does she pay in tax?

A. $6

B. $30

C. $3

  

6. 

How many miles from the tree to the
lake?

A. 25

B. 20

C. 5

7. 

A pool has 20 gallons of water.

Jeff adds 3.5 gallons per minute for (n)
minutes.

Which shows this?

A. 20n + 3.5

B. 20 + 3.5

C. 20 + 3.5n

8. 

12 families have  lbs. of recycling.

A. 60

B. 15

C. 100



9. 

5 CDs cost $45.00.

3 CDs cost  .

A. $27.00

B. $9.00

C. $15.00

  

10. 

This is a scale model of a table.

What is the diameter of the table?

A. 1.5 ft.

B. 6 ft.

C. 3 ft.

11. 

Truck Facts

Which Truck can tow 2 times
as much as Truck 2?

A. Truck 3

B. Truck 4

C. Truck 1

12. 

Dan picks one shape without looking.

What is the chance that he picks a
white shape?

A. 1
3

B. 2
7

C. 1
2



13. 

The triangles are similar.

m  F = 

A. 70°

B. 60°

C. 50°

  

14. 

There is the same  at all elevations.

A. grass seed

B. clay

C. ice

15. 

1 mile = about 1.6 kilometers

A car goes 5 miles. 

How many kilometers did it go in all?

A. 8

B. 7.4

C. 9.2

16. 

1 kiloliters = 1,000 liters

142 kiloliters =  liters

A. 0.1420

B. 142,000

C. 1.420
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